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CBT Practice test model answers

Financial Performance (FNPF)

Practice assessment 1

Section 1

Task 1.1

[image: image2.png](a) The following information has been calculated for the production of 1 unit of Beta

Each unitwill require 10 kilograms of material at a cost of £5.50 per kilogram
Each unitwillrequire 5 hours of labour at a total cost of £40.
Fixed overheads total £300,000 and the estimated output will be 2,500 units of Beta.

Complete the standard cost card below.

aterals 100 550 55|
ILabour 500 800 40
[Fxed averneads 100 12000 120)
[rota 215

(b) Complete the following sentence.

An aifine uses 250,000 kilograms of material to manufacture 500,000 airline meals. The standard

‘quantity of each mealis |0.50 Kilograms,




 

Task 1.2
[image: image3.png](a) A company purchases 10,000 kilograms of material at a cost of £33,000. The standard cost per
Kilogram is £3. The total material price variance is 2

2030

£3000

£300

£330

(b) A company purchases and uses 5,000 kilograms of material at a cost of £15,000, the budgeted
production was 1,000 units which requires 4,000 kilograms of material at a total standard cost of
£14,000. The actual production was 1,000 units. The material usage variance is?

£350

1,000 klograms

£3000

£3500






Task 1.2, continued
[image: image4.png]{c) A company uses the ideal standard to set budgets. How will this affect motivation?

An ideal standard s set under perfect conditions and tis dificultto mest,
‘which can demotivate st

Itis impossible to meet an ideal standard and thersfore staffwill be motivated.

Anideal standard s the highest standard and therefore staffwill always achieve it

An igeal standard is easyto meet and therefore motivation will e high

(d) A company expects to produce 12,000 units of X using 6,000 labour hours, the standard cost of labour
IS £14 per hour.

Wine actal outpus 14000 nts, th ol standar abour costis






Task 1.3
[image: image5.png]‘The fixed overhead volume variance is £

T20000] [Faowave |l

‘The fired overhead expenditure variance is £

You have been given the following information:
+Budgeted overheads are £50,000

+Budgeted outputis 5,000 units and 50,000 labour hours
« Actual outputis 4,000 units and 43,000 actual labour hours

« Actual overheads are £55,000

The fixed overhead efficiency variance is £

3,000

[raverse

The fixed overhead capacity variance is £

70 [faverse






Task 1.4
[image: image6.png]Enter the figures for the standard cost of actual production, actual cost of actual production and the total
variance then drag and drop the correct variance into the correct column.

[Budgeted/Standard cost for actual production £ 30030

Variance Favourable Adverse

[Direct materials (shampoo) price 21400

[Direct materials (shampoo) usage 2300

[Direct materials (botties) price 2228

[Direct materials (botties) usage 280

[Directiabour rate 825

[Direct abour eficiency £220

[Fixed overhead expenditure 28500

[Fired overhead volume 2700

[Total variance i £ 1,771

[Actual cost of actual production






Task 1.5
[image: image7.png](a) Complete the sentence below.

‘The trendin prices is an increase of £

[0.05

per month




[image: image8.png](b) The cost index for March based upon January being the base period of 100 is:

107

125

17

108





[image: image9.png]{c) Given this information, which of the following statements is correct?

“The costindexin April was 114 and the increase from January to Aprilis 11.11%

“The costindexin April was 111 and the increase from January to Aprilis 11.11%

“The costindexin April is 114 andthe increase from January to April is 10%

“The costindexin April is 111 and the increase from January to April is 10%






Task 1.6

	To:              Production Director                      Subject:            Reason for variances 

From:          AAT student                                  Date:                 December 2009



	(a) Possible reasons for the variances

Direct materials (Arabica) price variance

The price variance for Arabica beans is £800 adverse. This is due to the market price of beans increasing due to the poor harvest, meaning there is lower supply, therefore the price increases. The company could not have taken any action as the market sets the price.  
Direct materials (Arabica) usage variance

The usage variance for Arabica beans is £2,250 favourable. This has been caused by the mixing process making an error and adding a greater amount of Robusta beans to the mix.  The result is that the company has saved money because they have used less Arabica beans per kilogram of production, but the mix is outside of the range recommended to produce an acceptable quality blend. Therefore the customers may be unhappy. 
The company could have secured the maintenance personnel by paying a market rate.

Direct materials (Robusta) price variance

The price variance for Robusta beans is £600 favourable. This is due to the market price of beans decreasing due to a good harvest meaning there is a larger supply, therefore the price reduces. The company could not have taken any action as the market sets the price. 

Direct materials (Robusta) usage variance

The usage variance is £1,875 adverse because the company used more beans than expected. This was because of the mixing machine breaking down.  
(b) Action which could have been taken

Quality of beans – no action is necessary as the quality was as expected; no action could be taken as quality is dependent on the harvest.
Machines breakdown – the information states that the low pay rise meant that maintenance staff left. Therefore one option would be to pay more to retain maintenance staff or outsource to a reliable company.



Section 2
Task 2.1
[image: image10.png]Calculate the following performance indicators for Ufall and Kiineec (give
answers correct to two decimal places) and complete the table below:

all Ki
[Selling price per unit () 750 10.00)
IWaterial cost per unit () 200 50|
[Labour cost per unit (£) 125, 1.00|
[Fired cost per unit (£) 100 1.38]
(Gross profit margin (%) 4333 6135
[Profit margin (%) 1833 7.95
[Advertising cost as % of tumover 556 45.45
IReturn on net assets (%) 16.50 2059






Task 2.2
[image: image11.png](a) Calculate the total annual increase in profit by completing the table below. Enter increases in profit as
apositive number and decreases in profit as a negative number, using a minus sign and NOT
brackets.

Additional revenue

Savings on materials

Reduction in selling and distribution costs

Addiional gepreciation charge

Addiional annual profit

(b) Complete the following sentence:

The retum on the additional investment (to two decimal places) is [63.33 %





[image: image12.png](c) The marketing department is concerned that the volume of sales may not reach 1,200,000. The
finance director has asked for the break even sales volume. Complete the sentences below.

The fixed costs are £ 2,100,000

‘The contribution per unitis £ [5.75

The break even sales volume is 385218 units.





Task 2.3
[image: image13.png](a) Calculate the discounted lifecycle cost of purchasing the machine based upon the followin

« purchase price of £500,000
~ annual running costs of £40,000 for the next five years, paid annually in arrears
~aresidual value of £200,000 at the end of the five years

Ifthere are nil cashflows for any years you MUST enter O in the appropriate box. Net cash out flows
‘must be shown as positive figures and net cash inflows as negative figures (use minus signs). Round
tothe nearest whole £.

(Cash flowe 500000 40,000 40,000 40,000 40000 160000
IDiscount factor 1 0952 0.907] 0854 0823 0784
Presentvalue £ 500000 38,080 36,280 34,560 32920 125840

[ieteresent cost 16400 _





Task 2.3, continued
[image: image14.png](b) Calculate the discounted lifecycle cost of leasing the machine for five years based upon the total
‘annual costs of £125,000 paid annually in advance.

Ifthere are nil cashflows for any years you MUST enter O in the appropriate box. Net cash out flows
‘must be shown as positive figures and net cash inflows as negative figures (use minus signs). Round
tothe nearest whole £.

(c) Complete the following sentence.

Based on th calcuatons s bestto a5 e machine saes £ BEE]





Task 2.4
	To:

Finance Director


Subject:
Various
From:

AAT student



Date:

December 2012


	(a) Why are the gross profit margins different?
· Sales Price / sales volume

The sales price is higher under Scenario 1 which will result in an increase in the gross profit margin. However, the sales volume is half that of Scenario 2, which will reduce the margin if there are fixed costs because the fixed cost per unit will be higher.
· Materials

The materials cost per unit is constant and therefore does not affect the gross profit margin.  There is no economy of scale.
· Labour

Labour cost per unit is £1 for Scenario 1 decreasing to £0.80 for Scenario 2.  The more units that are produced, the lower the labour cost per unit. This will improve the margin for Scenario 2. It may be because of economies of scale in production or the learning effect.
· Fixed costs

Fixed costs are constant in total. Therefore, as the volume of production increases, the fixed cost per unit reduces. This will increase the margin.

· Which is the dominant factor and why?
Scenario 2 sells twice as many units as Scenario 1, has the same material cost per unit, lower labour cost per unit, and lower fixed costs per unit.  All of these would increase Scenario 2’s margin.  However the margin is lower. This is due to the lower sales price per unit which is the dominant factor.
(b) Why are the net profit margins different?
The net profit margins are different due in part to the reduction in gross profit for Scenario 2 and in part due to the increased sales and distribution costs in Scenario 2.

(c) Recommendation, with reasons, as to which course of action to take
Based purely on the forecast information, Scenario 1 is the best option creating the largest return.  However, the sales volume is lower than Scenario 2 and therefore the market share is lower.  It may be worth setting the price lower to gain market share.  Alternatively, could the price be set at, say, £8 per unit, and what would be the demand at this price?
 


